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All questionsarecompulsory.

Each question carries2 marks.

Answersshould bemarked in thegiven OMR answer sheet by dark-
eningtheappropriateoption.

Useblack ball point pen only for markingthecircle. Do not makeany
stray mark on the OMR Answer Sheet.

Follow theinstructionsgiven on OMR Shest.

Rough work shall bedoneon thesheet provided at theend of question

paper.
Only non programmablecalculator sareallowed.

Basic research conducted for the

A) immediatecommercia potential

B) enhancement of knowledge

C) invention

D) practical value

Applied research is designed to solve problems.
A) practical B) socid
C) redlife D) all theabove

It is necessary to in defining the research problem.
A) understanding the problem thoroughly

B) outlinetheproblem

C) do reference work

D) bring out applications
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Mean deviation can be computed from
A) Arithmetic mean B) Mode
C) Maedian D) All theabove

Coefficient of variability ishelpful in understanding
A) relativevariation B) meanvariation
C) most frequent occurrence D) modeand median

Coefficient of correlation

A) cantakeany value

B) isawaysmorethan+1

C) isawayslessthan-1

D) cantake any value between +1 and -1

The value of probability may vary between :

A) 01 B) populations

C) trids D) events

Electron microscopes use lenses to control the path of electrons.
A) eectromagnetic B) electrostatic

C) dglass D) A&B

British scientist first described fluorescence in 1852.

A) Stokes B) Hetz

C) Weichert D) Ruska

Compound light microscope was invented by
A) Robert Hook B) VanLeeuwenhoek
C) ZachariasJanseen D) Erust Abbe

The verbatim copying or reuse of one’'s own research is
A) sdf plagiarism B) plagiarism
C) repetition D) none of the above
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Electron microscope is useful to study
A) 3Dview B) surfaceview
C) ultrastructure D) alltheabove

Examination of viruses and ultra features can be studied well by using

MIi Croscope.
A) phase contrast B) fluorescent 50
C) brightfield D) eectron

Validity of research can be improved by
A) diminating extraneousfactors

B) takingtruerepresentative sample

C) both the above measures

D) none of the above

Copying someone else’'s work is
A) plagiarism B) cut paste
C) repetition D) sed

Deviations from Beer and Lambert’s law are observed when
A) monochromatic light is not used for measurement

B) coloured substances in the sample dissociate, associate or form
complexes

C) samplehasavery high concentration of solute
D) alltheabove

Presence of two is a differentiating feature of a fluorescence
spectrophotometer.

A) mirrors B) monochromators

C) recorders D) lamps

Culture technique involves principle of conditions.

A) norma B) specid

C) aseptic D) none of the above
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19) Sterilization of heat labile substance is made by
A) autoclaving B) hesating
C) antibiotics D) ultrafilters

20) X-ray diffraction and NMR spectroscopy have been used to study
dimensional structuresof cellular molecules.

A) Un B) Two
C) Three D) Mult

21) Sl unit of measuring concentration of solution is

A) m? B) m?
C) kgm3 D) mol m3
22) The pH electrode responds to ion in solution.
A) PO* B) H*
C) CI- D) Na*
23) In technique the plant material preserved in liquid nitrogen.
A) Ediacaran B) Skeetonizing
C) Cryopreservation D) Biotechnology

24) In mass spectrometry (MS) the molecules in a test sample are converted to
ions.

A) Liquid

B) Gaseous

C) Semisolid

D) None of the above

25) Phosphorus is not a component of
A) DNA B) RNA
C) Lipd D) ATP

26) Which of the following is not the phase of Taxonomy.
A) Systematic phase B) Pioneer phase
C) Old phase D) Biosystematic phase
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Who gave the term Phylum?
A) Cuvier B) Haecke
C) Theophrastus D) Linnaeus

RNA processing is :

A) the sameastranscription

B) thergection of old, worn-out RNA

C) anevent that occurs after RNA istranscribed
D) both B and C, but not A

If the sequence of bases in DNA is TAGC, then the sequence of bases in
RNA will be

A) ATCG B) TACG
C) CGAT D) AUCG

isused in the industrial production of citric acid.
A) Candida sp. B) Aspergilus sp.
C) Sreptococcus sp. D) Acetobacter sp.
The endosperm is formed IN gymnosperms.
A) Beforefertilization B) Afterfertilization
C) Duringfertilization D) Alongwith embryoformation
Oxalic acid helpsto maintain thelow pH of the by acting asbuffers.
A) chloroplast B) nucleus
C) vacuole D) mitochondrion

is also called vitamin C.
A) oxaicacid B) malicacid
C) ascorhic acid D) hydrochloric acid

Is having seventy steles.

A) Medullosa heterostelica B) Medullosa stellata
C) Medullosa endocentriaca D) Medullosa thompsoni
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Lenticelsareinvolved in
A) Transpiration B) Gaseous exchange
C) Food transport D) Photosynthesis
In sporangiophores are pendulous in condition.
A) Calamostachys B) Paleostachys
C) Macrostachys D) Mazostachys
has proposed the centers and non-centers of the origin of agricultural
Crops.
A) Vavilov B) Harlan
C) Sir Otto Frankel D) Alphonse de Candolle
GreenrevolutioninIndiawasachieved withthehelpof _ internationa
ingtitute.
A) IRRI, Philippines B) CIMMYT, Mexico
C) ICARDA, Syria D) IPGRI, Italy
During protein synthesis an anticodon on t RNA pairs with

A) mRNA nucleotide bases B) rRNA nucleotide bases
C) DNA nucleotide bases D) other tRNA nucleotide bases

Asafoetida is the

A) Damarresin B) Gumresin

C) Oleoresin D) Hardresin

Theterm means ‘ aparticular taxon hasvery restricted distribution’.
A) Endemic B) Lowrisk

C) Threatened D) Criticaly Endangered

Krebs cycle is also called as
A) Citricacid cycle B) Cavincycle
C) Yangcycle D) C,cycle
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Alcohol is a product of

A) Aerobicrespiration B) Photosynthesis
C) Anaerobicrespiration D) Lightreaction
The shikimic acid pathway converts carbohydrate precursors to
A) diphaticamino acids B) aromatic amino acids
C) vitamins D) proteins

Is the precursor for condensed tannis.
A) phenyl dlanine B) tyrosne
C) dlycne D) methionine
Horseshoe shaped antheridiophore is observed in
A) Plagiochasama B) Targionia
C) Aderdla D) Marchantia
Stylar canals are present in :
A) Hallow style B) Solidstyle

C) bothA & B D) None of the above
During processing several unusual bases are produced on large scale in

A) MRNA

B) rRNA
C) tRNA

D) altheabove
The development of sporangium in Pterisis :

A) Leptosporangiate B) Eusporangiate
C) Protoleptosporangiate D) Alltheabove

act as ametabolic channel to transfer glucose taken from sucrose

to UDP-glucose.

A) Sucrose synthase B) Fructose synthase
C) Triose synthase D) Glucose synthase
===
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